1.  Find the density of methane gas (CH4) at STP.
2.  What is the density of SO2 gas at 822 K and 550. mmHg?

3.  What is the density of C2H6 gas at -113ºC and 95.0 kPa.

4.   Find the molar mass of a gas which has a density of 3.78 g/L at 95ºC and 920. mmHg.

5.  15.3 g of gas occupies 996 mL at 75ºC and 198 kPa.  What is its molar mass?

1.   D= (MM)(P)             D = (16.05g/mol)(1 atm)                 D=.716 g/L
                   RT                          (.0821)(273K)
2.  D= (MM)(P)              D = (64.07g/mol)(.724 atm)              D = .687 g/L
                  RT                             (.0821) (822K)
 
3.    D= (MM)(P)              D = (30.08 g/mol)(95.0 kPa)            D = 2.15g/L
                  RT                             (8.314)(160K)              
4.   MM = mRT               MM = (3.78g)(.0821)(368K)               MM = 94.4g/mol
                   PV                                   (1.21 atm)(1 L)
5.    MM = mRT              MM = (15.3g)(8.314)(348K)                 MM = 224 g/mol
                   PV                                (198 kPa)(.996L)            
